O3-03Y sz‘,b\h Verrtl Pasetian Stetasey
B Homd o O )

MepE~i A, CS P mAp, SN, C5C5 0 s py

LS _ 2
PMA_ -)B-’OZ

28485 ‘
> = L BR8N

< &

S= \I;J:‘ S 24 3o
D= ¢ (12-8l4---1 [24))
= 7/3 v 2.3 ST
. = q9Q-2 =7
??: )(0.25) = Lzasiw§
Fo2s = (6,75)3)4(6,25)3)
=3 ¢
=10, 23 = 325
%, o= (02 sYs)+(0.75)(8)
=725 Yo
1ge = 7:25-3=4.25
563 Cowarmg vAfeoon) =

3, 72s] yoeg




I MQ&}M Qg- Cw AN qu\(gs
o 2
e FOEY = 2 ()
| L5
| . o
SO =~ Z 2 (H=2)
L=y

12%
Slx)=o WP g@a*w =6

Fl (V=31
| "00)= g §z><,~)>,<~s> S 2H20

[ f 3

| raro K04) = Wag SIN-Xe) 2 (02 -5 )

! . o=\ Xﬂ—x TF Q{'(?(l

; A R Tk ot A LR i )
I ThD toesteoan® (See K=, = A~A =D A= fz‘l(z‘”&)«
,,_L/T&b; D6 i gy | G ST,
i

| Key obgarnbonc & 0 <aoe < Yo cumn

s g

[




